XMEERIEFRAROEEAL. Fil - F& - RROXDZZ1BEUTEELET,
(BU. ZRESIEEHZD. A2 X2 R ResF1IEEZDDOERETT.

K INTHIMEAET I,
FOfm & FIFA DB FIAM (M)

A= ARSEY M (KR—JL) —=X 5,330
A= ARSEY k2 (KR—JL) —=X 5,330
A—TZXARTEY & (k=)L) (BIEEZESD) —= 8,530
BERHR (KAR—)L) —=X 8,530
BERIR (F/R—)L) —=X 5,330
F5E0 (X) —=X 3,190
g65E0 () —=X 1,050
ASAT74>20 —=X 5,330
EID&ES —= 5,330
Eff/ V> 1K 410

e 11 210

Ee (K) (feaZzs0) —=X 1,050
Eae (F) (feazs0) —=X 520

EES=| a 310

2| a 100

O EHGF 1A 50

NEFEF 1A 310

TR oU—-> 14 2,090
UPRO—> 14 5,330
ERXE —=X 5,330
wes (8-3) 14 2,120
Ta—tyv hE 151 5,330
Ny I8 (RLE) 14 5,330
ROwZT (- - 3K) 14 5,330
FR (& - iR) 13 2,120
e —=X 8,530
IRERAESE S —= 16,010
MPBE —= 2,660
MEE —= 2,660
gD (B-JL—) —=X 3,190
JNLIXRY —=X 5,330
& 11¢ 210

EA (BE-#) X 14 1,570
EEA - #) N 14 420

il 11¢ 100

= R R E] 14 210

REME 14 210

RSAT7ARIZ> 15 2,120

M=FHER A7 —



= Om % FIFA DB FIAR (F9)
7/ (RF914>0x4) (KR—=IL - H7k—)L) 16 13,880
7)) (RF14>Dx4) (UNR—=IL - B1U)\—H)LE) 18 6,400
E7 ) (R—C2RILTF7—) 18 13,880
Er./ (v</\) 18 6,400
Exy./ (174) 18 6,400
TYITISARET ) E2UI\-BILE - LET>a>)l—L) 158 1,050
BEFE7 18 1,050
ey /BB 18 300
FILRY 18 5,330
RS TAIH> 18 10,670
Fx>/)\O0 18 10,670
IN=T 18 5,330
Fo A I 18 2,120
Fa>2)\Z - 3,190
AW S SSTN - 1,010
RE (ZRILERM) a 1,050
EES (2B —3L 520
EEHE rDEHT) a 50
iEmae (R9>RR) a 100
SEEUAT 14T 50
NR—XF 1A 210
A=A NS REF 1A 100
RSLtzY ~ —30 1,040
FH-T7>2T = 520
R=RT7>F a 520
ARy bS50 & 1kw 210
EZRY S5 (3 kw) 156 2,120
EZRY S5 (1 kw) 156 520
JILFX ~OR 156 1,050
ARE—DONZ> 158 2,120
FRARRBAEIRERN 1kw 150
16U - 35IUFMAMEH (A/R—)L - FrR—)L) —= 10,670
35 ZUIREH (ZB8/KR—)L) -3 5,330
1 6 ZURBHE (IVR—)L - ZB8/R—)L) —30 3,190
AT1 RIRE —X 1,050
Fd—)\—~y RTJO> T 05— a 1,050
A—=)N=\wY RAAS a 1,050
JOozxos— —= 2,120
ETEZAH-FLE a 500

M=FHER A7 —



G - B =2 FIFADEAL FAR (M)

LAEERE (KR—)L - F7R—IL) - 2,660
hExBE (L) - 1,050
NAD 1K 520
BREBLERE a 520
BER=+T— a 2,090
FERRME a 1,040
BEBRY LT MRy OX a 620
BEBAXE—H (X) a 2,090
BEBAXE—H () a 1,040
ZRPRE - 410
INR=FTIDTAV LRI AT I - 1,050
FRAEEERERR 1kw 150
FRAEAAEE U R 1kw 150
AVERT I (A) - 2,120
AVER5 I (B) - 1,050
J— KRBV 18 1,040
BB oU—> 18 500
CDS>A 18 520
=TI (K) 18 310
F—=TIL () 18 150
IRDA MR— R 18 300
TFRYZR 1K 300
IRERT—> 18 310
Br)IL (15vD) 104 1,520
) RV 1M 200
YA X2 R (K) & (18) 1,250
YA X5 R (F) 158 (18) 1,040
YA R () & (18) 520
Fés (R=E - 1) —X (18) 3,050
KiR—=)L 1 Mg 4,260
hR—IL 1 Mg 3,190
IINR—)L 1 Mg 1,050
ZENR—IL 1 Mg 1,050
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